Chem II – Hess’s Law

Name: _____________________________


 Solve the following Hess’s law problems. 
	1. Calculate the ∆H for the following reaction: 

Sn   +   2Cl2  (  SnCl4 

You are given these two equations:

Sn   +   Cl2 (  SnCl2  ∆H  =  -325 kJ  

SnCl2  +  Cl2 (  SnCl4  ∆H  =    -186 kJ  
2.   Calculate the ∆H for the following reaction:

NO   +   O (  NO2     

You are given these three equations:

O2 (  2O   ∆H  =  +495 kJ

2O3 ( 3O2  ∆H  =  -427 kJ

NO  +  O3  (  NO2  +  O2    ∆H  =  -199 kJ 


	


3. Calculate the ∆H for the following reaction:

2H2O2 (   2H2O    +   O2   

You are given these two equations:

2H2   +   O2 (    2H2O  ∆H  =  -572 kJ

H2   +  O2  (  H2O2  ∆H  =  -188 kJ 
4.   Calculate the ∆H for the following reaction:

2CO  +  2NO (  2CO2    +  N2   

You are given these two equations:

2CO   +  O2  (  2CO2  ∆H  =  -566.0 kJ

N2  +   O2 (  2NO  ∆H  =  180.6 kJ 
 5. Calculate the ∆H for the following reaction:

CS2 +   2H2O (   CO2   +   2H2S 

You are given these two equations:

H2S  + 1.5O2 (   H2O  +  SO2  ∆H  =  -563 kJ

CS2   +  3O2 (  CO2   +  2SO2  ∆H  =  -1075 kJ 

 6. Calculate the ∆H for the following reaction:

4Al   +  3MnO2(  2Al2O3  +  3Mn 

You are given these two equations:

4Al   +  3O2 ( 2Al2O3   ∆H  =  -3352 kJ

Mn   +  O2  (   MnO2  ∆H  =  -521 kJ
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